

10.7 Power Series are infinite sum of poly s. $\frac{p^{2}}{p^{2}}a_{n}\left(X-\alpha\right)^{n}=a_{0}+a_{1}\left(X-\alpha\right)+a_{2}\left(X-\alpha\right)^{2}+\dots$ $a_{i}: coefficients a: center$ R: radius of convergence. a-R<X<a+R Note: To find R and IC we apply RT.
Ex.
 $\sum_{n=0}^{\infty} x^n \mid 0 = 0$ geometric since r = x Ex.
Find R and IC for?

= 1 + X + X* + X* ...
 $\sum_{n=0}^{\infty} \frac{x^n \cos x}{n!}$ $\sum_{n=0}^{\infty} \frac{x^{n}}{n!}$ $\sum_{n=0}^{\infty} \frac{x^{n}}{n!}$

15
|X| < 1 then $\frac{x^n}{n=0} x^n$ converges to $\frac{n}{1-r}$ $\frac{\alpha_{n+1}}{\alpha_{n+1}}$ $\frac{\alpha_{n+1}}{\alpha_{n+1}}$ $\frac{11 \times 11^{10} \times 1^{10} \times 1^$ $\frac{|X| \lim_{R \to od} \frac{1}{R+1} = 0 < 1}{s_{0} \log R} \xrightarrow{R = s_{0}} \frac{1}{R + s_{0}} \xrightarrow{R = s_{0}} \frac{1}{R + s_{0}}$ IC=1-1.11 R=1 $f(x) = \frac{1}{1-x}$ for |x| < 1 we can approximate and R = 00 $f(x) = b_1(x) = 1$ $f_1(x) = 1 + x$ $P_2(x) = 1 + x + x^{\circ}$ $P_3(x) = 1 + x + x^{\circ} + x^{3}$ # Summury # $\frac{2\binom{n}{2}}{n} \frac{(-1)^{n-1} \frac{x^n}{n}}{\alpha_{n-1}} \frac{Apply}{n} \frac{RT: \lim_{n \to 0^n} \frac{Rat1}{n}}{n}$ Power Series |X||îm <u>n</u> = |X|. _{N=000} n+1 abs." $\eta \rightarrow 0^{-10}$ If |X| < 1 then Ean conv. als. $\eta \rightarrow 0^{-1}$ and $\eta \rightarrow 0^{-1}$ النحص عان حدود الغنرات Check endpoints for conv. condit.: $X = 1 \longrightarrow \stackrel{\text{pd}}{\longrightarrow} (-1)^{n-1} \stackrel{(-1)^n}{\longrightarrow} = \stackrel{\text{pd}}{\longrightarrow} \frac{(-1)^n}{n}$ $\begin{array}{c} \overset{\text{red}}{=} \sum_{i=1}^{N} (-i)^{-1} \frac{1}{N} = \frac{-\frac{N^2}{2}}{n+1} \cdot (HS) \text{ div.} \\ \eta = 1 & \\ \eta = 1 & \\ \chi = 1 & \underbrace{-\frac{N^2}{2}}_{n+1} + \frac{N^{-1}}{N} \cdot (AHS) \text{ conv. but not conv. abs. since } \sum_{i=1}^{N} (Ai) = \sum_{i=1}^{N} \frac{1}{N} \cdot (Ai) = \sum_{i$ |C = |-1, 13|STUDENTS-HUB.com Uploaded By: anonymous

3) Z lln n) xⁿ Apply RT: lim Quer n=1 n-00 Qu an ins 2" Q.n 1x lin Innet (L' Hopelal) = 1x 1<1 div. conv. u.bs. div. R=1 conv. abs. = [-1, 1]. Check for conv. condil.: at X=1 2 In n div. by nothlern test. at X=-1⁰⁰ Inn (-11" div. by nth term test. IC also (-1,11. Ax s.t Elnn x" conv. condit. Ex. Find IC, R, conv. abs. and conv. condit? 1) 2 3 x Apply RT: lim Qaes n+∞ Qn 2) 2 (X-1)ⁿ Apply RT: lim Qa+1 N=1 N³ 3N a++00 Qa $\frac{a_{n+1}}{a_n} = \frac{3^m X}{3^p \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} - 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{n+1} + 3^n \chi^p}{3^n \chi^p} = \sum_{\substack{n \to a \\ n \to a}} \frac{a_{$ $\frac{a_{n+1}}{a_n} = \frac{(\chi - 1)^{n+1}}{(n+1)^3 3^{n+1}} \cdot \frac{n^3 3^n}{(\chi - 1)^n} = \frac{n^3 (\chi - 1)}{3(n+1)^3}$ $\frac{|\chi_{-1}|}{3} \lim_{n \to ot} \frac{|\eta_{+1}|}{|\eta_{+1}|}^3 = \frac{1}{3} |\chi_{-1}| < 1$ -> 1x-11<3 so-3<x-1<3 therefore -2<x<4 \therefore conv. a.bs. = $(-\frac{1}{3}, \frac{1}{3})$ and $R = \frac{1}{3}$: conv. abs. = (-2, 4) and R=3. a=1 4 Check endpoints for conv. condit. : Check endpoints for conv. condit. : at $X = \frac{1}{3} \sum_{n=0}^{\infty} \frac{3^n (1)^n}{3!} = \frac{3^n (1)^n}{n!} = \frac{3^n (1)^n}{n!}$ div. by nth term test. $a! x = -2 \sum_{n=1}^{\infty} \frac{(-1)^n}{n^3 3^n} = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^3}$ conv. by AST. at x = -1 or $3^n (-1)^n = \frac{2}{5} (-1)^n$ div. by n^{th} term test. at $x = 4 \frac{p^{\infty}}{n^{-1}} \frac{13!^{\eta}}{n^{3}2^{\eta}} = \frac{p^{\infty}}{n^{-1}} \frac{1}{n^{3}} - conv.$ by P-series test. since both endpoints div. $1C = \left\lfloor \frac{1}{2}, \frac{1}{2} \right\rfloor$ 1C = [-2, 4].Note that $\sum_{n=0}^{\infty} 3^n x^n = \sum_{n=0}^{\infty} (3x)^n = 1 + 3x + (3x)^{\frac{1}{2}} + ...$ At x = - 2 and x = 4 does the series conv. Abs. ? is conv. geometric Series since [X] < 1 so 1/1<1. =-2 and X=4 1-38 conv. condil. conv. abs. 3 no point (x) where the power series conv. condit. Hence the power series conv. abs. VXE [-2,4].

STUDENTS-HUB.com

Uploaded By: anonymous

3) $\frac{2}{n!}$ n! x^{n} Apply RT: lim ane: $n \neq \infty$ and $\frac{4net}{n!} = \frac{(4+1)n!}{n!} x^{n+1} = (n+1) x$ |X| lim n+1 = |X|. 00 > 1 N+ 00 This infinite series diverges for every X except X=0 since $\sum_{n=0}^{pd} n! X^0 = \sum_{n=0}^{pd} 0 = 0$. div. cont. div. R=0. Theorem : Assume $\sum_{\substack{n=0\\n=0}}^{\infty} a_n X^n = A(X)$ and $\sum_{\substack{n=0\\n=0}}^{\infty} b_n X^n = B(X)$ converges Abs. on |X| < RThen (2 an X") (2 bn X") converges Abs. to A(X). B(X) on XXI<R. Theorem: If E an Xn conv. abs. on XX R Then E an (f(x1)" conv. als. on | f(x) | < R for any cont. function f. Ex. $\sum_{n=0}^{n_0} \chi^{n_1} = 1 + \chi + \chi^{n_1} + \dots = \frac{1}{1-\chi}$ if $|\chi| < 1$ This means 2 xª conv. abs. to 1 on 1x1<1 $\frac{\frac{1}{2}}{\frac{1}{2}} \frac{19x^{3}}{\frac{1}{2}} \frac{1}{1} \frac{9x^{4}}{\frac{1}{2}} \frac{19x^{3}}{\frac{1}{2}} \frac{1}{\frac{1}{2}} \frac{1}{\frac{1}{2$ $s_0 \xrightarrow{H} \chi^2 \prec I \xrightarrow{\chi^2} \prec \xrightarrow{I} \xrightarrow{J} \xrightarrow{J} \chi I \prec \xrightarrow{I} \chi$ $f(x) = 4x^{*}$ conf. STUDENTS-HUB.com Uploaded By: anonymous

Theorem: Term by term Differentiation:
$\frac{15}{15} f(x) = \sum_{n=1}^{\infty} a_n (x-c)^n = a_0 + a_1 (x-a)^2 + \dots$
n=0 Assume this power series const. abs. on 1x-RI <r< td=""></r<>
and 17 fixe has all derivatives on 1x-CI <r th="" then<=""></r>
$J'(\mathbf{r}) = \sum_{n=0}^{n-1} 0 + 0 + 20 \cdot (\mathbf{x} - c) + 30 \cdot (\mathbf{x} - c)^{2} + \dots$
$\int \frac{d^{-2}}{(x)} = \int \frac{d^{-2}}{(x)} \int $

Theorem: Term by term Integration: Assume $f(x) = \sum_{n=0}^{\infty} a_n (x-c)^n conv. als. on 1x-C1< R$ $= Q_0 + a_1 (x-c) + Q_2 (x-c)^2 + ...$ Then I fixe $dx = \sum_{n=0}^{\infty} a_n \frac{(x-c)^{n+1}}{n+1} + C$ on |x-c| < R.

Ex. Identify this function: $f(x) = \frac{7}{2} + \frac{10^{11} x^{10^{11}}}{2n+1}, \quad |X| \leq 1.$ $a_{10} = \frac{10^{11} x}{2n+1}, \quad |X| = \frac{10^{11} x}{2n+1}, \quad |X| \leq 1.$ $a_{10} = \frac{10^{11} x}{2n+1}, \quad |X| = \frac{10^{11} x}{2n+1}, \quad |X| \leq 1.$ $a_{10} = \frac{10^{11} x}{2n+1}, \quad |X| = \frac{10^{11} x}{2n+1}, \quad |X| = \frac{10^{11} x}{2n+1}, \quad |X| \leq 1.$

hel flos = 0 so C= 0.

∴ £(x) = 4m³'x.

STUDENTS-HUB.com

Uploaded By: anonymous